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Note: ,

1. Do not open the booklet until you are told to do so.

2. Read carefully the instructions given at the beginning
of each part of the booklet. '

3. Do not waste time. If the question is too difficult for you,
go on to the next question.

4. Check your answers thoroughly and make sure you
attempt every question.

5. In this booklet, you should have the following:
a. Page 1to Page 14
b. Questions 11024
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For Questions 1 to 24, choose the most suitable answer and shade its humber
the OAS provided.

1. Study the classification table shown,

Living things

Which one of the following is the most suitable heading for group Y?

(1) birds

(2) reptiles
(3) insects
(4) amphibians
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Stugdy the diagram below.

What characteristic of living things does it show?

{1) Living things can die.

(2) Living things can grow.

{3) Living things can reproduce.

{4) Living things can respond to changes.

Kai Xin recorded some information in the table shown below.

Group Characteristics Example
fish has scales and breathes through gills dolphin
bird has feathers and a beak parrot

insect has six legs and three body parts mosquito

mammal has hair and ﬁmduces milk monkey

Which one of the folioﬁing éxéfnpfes is placed in the wrong group?

(1) dolphin
(2) parrot
{3) mosquito
{4) monkey
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4. A student found organism A growing in the school garden.

Which one of the following is comect?

Type of organism Reproduce by
(1} flowering plant seeds
(2) fungi seeds
(3) fungi spores
(4) non-flowefing plant spores

5. The diagrams show the development of a seed growing into a young plant.

o oy ¥t

Day 3 Day 6 Day 10 Day 15

Based on the diagrams, when will the young plant be able fo start making food?

(1) Day3
(2) Day6
{3) Day10
{4) Day 15
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6. Study the classification chart below.

Insects
]
I 1
3-stage life cycle 4-stage life cycle
| I
I i [ 1
Aduit Adult with Adult Adult with
without wings without wings
wings wings
| |
A B C D
Insect Z
young aduit

Which letter represents insect 77

&)
(2)
(3)
(4)

ocOowx
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7.

Megan piaced two similar mice in each glass container as shown in the
diagrams below,

cavers with holes

S o
L

P

-
/

waler

Sefup A

Set-up B
What was the aim of Megan’s experiment?

(1) Tofind outif the presence of air affects the survival of mice.
(2) Tofind out if the presence of food affects the survival of mice.

(3) To find outif the presence of water affects the survival of mice,
(4) Tofind outif the covers with holes affect the survival of mice.

Study the classification table of the organ systems in a human body.

Respiratory ] Circulatory Skeletal Muscular
system system system system
lungs nose shkuli muscles
windpipe heart ribcage

Which organ is placed in the wrong group?

(1) nose
(2) skull

(3) lungs
(4) heart
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9.  Study the diagram below.

Which cne of the following is correct?

Digestion sfarts Digestion ends
M A 0
(2) A B
3 B &
)] B D

10. The graph below shows the amount of digested food found in four different
organs, A, B, C and D, of the human digestive system.

F

Amount of | . '
digested
food I
A B C

Organs
Which organ, A, B, C or D, is the iarge intestine?

(1) A
) B
3 C
4 D
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1. Which of the following functions are correctly matched to the plant paris?

Roots Stem Leaves
(1) | To trap sunlight to To support the plant to | To absorb water for
make food for the receive sunlight. the plant.
plant,
(2) | Toabsorbwaterfor | To support the plant to | To trap sunlight to
the plant. receive sunlight. make food for the
plant.
(3) | To absorb water for | To hold the plant To trap sunlight to
the plant. firmly to the ground. make food for the
plant.
(4) | To hold the plant To trap sunlight to To absorh water for
firmly fo the ground. | make food for the the plant.
plant.

12. Which one of the following is a matter?

13.

(1} shadow
(2) sound
(3) heat
{(4) air

The table below describes three different states of matter, P, Q and R.

Property P Q R
has a fixed
no yes no
shape ;
has a fixed Fiéi T s
volume : s

Based on the information above, which one of the following is correct?

P Q R
(1) liquid solid gas
(2} liquid gas solid
(3) gas liquid solid
(4) gas solid liquid
7
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14. A water tank used for flushing a toilet bow! is shown in diagram 1 below. After
fiushing, water enters and reilis the tank. The tank will stop filling when the
water reaches level H.

water tank

Diagram 1 Diagram 2

Mabel wanted to conserve water. She put a bottle of pebbles as shown in
diagram 2 into the water tank.

Which of the following properties of matter was Mabel's method based on?

A: Solids have definite volume.
B: Solids occupy space.
C: Solids have no definite shape.

- {1} AandB only
{2) BandConly
(3) Aand Conly
(4) A,Band C only
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15. Sasha removed a glass containing ice from the freezer and poured some m,
immediately into the glass as shown below. Then, she tilted the glass quickly ax
shown in the diagram below.

T o T
Ny, i bl e S
A - et oS

Which one of the following diagrams best represents Sasha’s observation when
she tilted the glass immediately after pouring the milk?

{1
3

2)
)

&

2

16. The picture below shows a crane that uses an electromagnet to collect metal
pieces for recycling.

electromagnet

Which one of the following materials can the electromagnet attract?

(1)
(@)
(3)
(4)

steel :
silver

copper

aluminium
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17. Study the three bar magnets, AB, CD, EF and an iron bar GH as shown in the

arrangement carefully.
A BiC
H
iron bar =y
\f!
39 b
GiF E

)

2
) FiB A
G

D c|E

(3)
A B
D C
E F oy

(4}
EfG: D
FiH{ B AiC

10
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18. Heng Ying wanted to test the magnetic strength of four magnets, W, X, Y and
He placed the magnet 2 cm away from the iron pins and recorded his
observations. He repeated the experiment for the other three magnets.

19.

pins
magnet /

R T
2cm

Magnet Number of pins aftracted to the magnet
W 6
X 5
Y 1
Zz 3

Which one of the following statements is most likely to be correct?

{1) Magnet W has the least magnetic strength.

(2) Magnet Y has the greatest magnstic strength.

(3) MagnetZ has less magnetic strength than magnet Y.
(4} Magnet X has greater magnetic strength than magnet Z.

Which one of the following is a source of heat?

(1) burning candle

{2) spoon
(3) moon

(4) pot

ik
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20. Edmund used instrument Z to measure the temperature of warm water in a

21.

basin.

instrument Z

Which one of the following shows the correct temperature of the warm water?
(1) 30°C
{2y 37°C

(3) 39°C
{(4) 42°C

Rose places a metal spoon in a cup of hot drinle.

metal spoon

The spoen becomes hotter after a while. Which one of the following explains
this?

(1) The spoon loses heat to the hot drink.
{2) The cup gains heat from the hot drink.

{3) The spoon gains heat from the hot drink.
{4} The hot drink gains heat from the spoon.

12
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22. Abby setup an experiment as shown below. She placed Container A containing
hot water at 90°C into Container B containing water at 10°C. Both containers
were placed in a room for the next 20 minutes.

Container A\‘ Woater at 90°C

Which of the foliowing best represents the change in temperature of the water

after 20 minutes?
Temperature of water in Temperature of water in
Container A Container B
(1} 80°C 100°C
@ 80°C 40°C
{3) 100°C 10°C
(4) 10°C 80°C

23. Sulaimah placed four emply identical beakers, A, B, C and D, on a table in the
Science room. He poured water of different temperatures and volumes
into the beakers shown below.

100°C
100 m!

Beaker A . BeakerB " Beaker C Beaker D

Which one of the following best represents the amount of heat in the water?

Least heat *» Most heat
(1) D B C A
2) 53 c E A
(3) A C B D
{4 C A D B
13
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24. Mrs Ramah boiled some water in a pot. After the water had boiled at 100°C, she
turned off the heat from the stove. She took an egg from the fridge and put it into

the pot.
— pot
] boiling water
| el —ew

Which graph correctly shows the changes in the temperature of water and the
egg during the duration when the egg was placed in a pot?

(1) Temperature (°C) (2) Temperature (°C)

~

100 -~ water

s water

i
Y Ll

Time {minutes) Time {minutes)

(3) Temperature {°C) (4) Temperature (°C)

F

-»

1004~ 100 -

Time (minutes)

- Time (minutes)

End of Booklet A
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Answer all the questions in the space provided.

25, Study the flow chart below.

Living Things

Does it
reproduce by
seeds?

Can it move
freely on its
own?

No

Does it lay
eyygs?

Does it have
scales as its
outer covering?

E

(a) Based on the flow chart, what are the characteristics of organism A? (1m)

(b} Which letter {A, B, C, D or E) in the flow chart represent the following
organisms? (1m)

(i} cockroach:

(ii) apple tree:

15
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25. MrWong left two pieces of bread A and B in the Science room for five days.

{oasted bread A moist bread B

After five days, Mr Wong observed that some bread mould was formed on Bread
B.

{c) Based on the information above, name the conditiori necessary for the bread
mould to grow on the bread. {(1m)

Presence of

{d} Mr Waong had two similar pairs of leather shoes, X and Y, as shown below.

Mr Wong kept the two pairs of leather shoes in two separate shoe boxeas and left
them in the shoe cabinet. After one week, he found some mould growing on one
of the pairs of the leather shoes.

Which pair of leather shoes, X or Y, would mould be seen growing? Give a
reason for your answer. {1m}

16
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26. The diagram below shows the stages in the life cycle of a beetle.

I~

adult

.

{a) Name the two stages X and Y. (1m)

X:

Y

The diagrams below show the life cycles of a frog and a butterfly.

Life cycle of a frog Life cycle of a butterfly
(b) Based on he life cycles above, state one similarity between the two life
cycles. {1m)
2
17
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26. May planted a seed in a pot of soil and placed it near the window. She observed
the development of the seed into a young plant over a period of time.

seed

wet soil

(¢} May recorded her observations but they were notin order. Fill in the boxes
with 1, 2, 3 and 4 to show the comect order of the development of the seed.

Stage '§” has been indicated for you. (1m)

Stage Observation
5 The seed leaves siwink in size and drop off.
The shoot emerges from the seed.

The roots emerge from the seed.

The leaves appear.

The seed coat breaks open.

(d} May planted another seed of the same type in another pot of wet soil and
placed it in a dark cupboard. Would the seed be able to germinate? Explain

your answer. (1m)

18
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27. The diagram below shows the human digestive system.

(a} In which parl(s) of the human digestive system, A B, C, DandferE, is
digestive juice added? Tick (v) your answer in the boxes provided. (1m)

19
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27. The flow chart below shows the path of food in the human digestive system.

mouth

guliet

+

stomach

om ) D .
| st } """"""" T e t ------
v Pis i i absorption |
i absorbed | of Q :
i intothe | ‘---momoeo-oood
i blood :

{b) Identify organs D and E. (1m)

Organ D:

Organ E:

(c) Identify substances P and Q. {1m)

Substance P : _

Substance (1 :

20
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28. Study the diagrams below.

wooden pole

Plant R grows around a wooden pole while plant S grows around a tree.

{a) Based on the diagrams shown, what is the common characteristic of the
stems of plants R and S7 {Do not tompare size, shape and colour.) {1m)

(b} Explain how the arrangement of the leaves at a higher position on the tree
help plant S. (1m) .

(c) The skeletal system of the human body supporis the body. Which part of
the plant performs a similar function? {(1m)

21
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Raymond filled up Container A with small marbles and Container B with big
marbles. Containers A and B are of the same size. He then poured water into the
containers until the water filled up to the brim of the containers. He recorded the
amount of water poured in the table below.

OR00 e@ee
XX § glgq

BB } o
/|
0 00 i
Container A
Container Amount of water poured {mt)
A ?
B 50

{(a) Based on the diagrams, predict if Raymond is able to pour more or less
water into container A without water overflowing? (1m)

(b) Explain your answer in {a). (1m)

22
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30. Caleb conducted an experiment as shown below. He pasted some tissue paper
inside a plastic cup and pushed the cup into a basin of water as shown below.

tissue paper
plastic cup j\
wior__Ezzzzz=z | mm E—ﬁe—

basin o

W el N et ey dien

The tissue paper felt dry when Caleb took it out of the cup.

(a) Explain why the tissue paper was dry. {2rn)

(b) Did the volume of water in the basin decrease, increase or remain the same
after the plastic cup was pushed into the basin? {1m) o

23
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31. Gabriel placed three discs, A, B and C, through a wooden holder as shown below
in diagram 1. Two of the discs are magnets and one is an iron disc,

Diagram 1

Then, he changed the positions of the discs and noticed that disg C became
suspended above disc A

holder

Diagram 2

(a) Based on the information above, complete the table below, (1m)

Disc Is disc a magnet or an iron disc?
A
B

(b} Explain why disc C is suspended above disc A. (1m)

24
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31.  Gabriel constructed an efectromagnet using an iron bar, as shown in the diagram
below. The different parts of the iron bar were labelied X Yand Z

N

Lo BSeBGL [ iom pin

He placed a tray of iron pins 5 cm below the iron bar and recorded his
observations in the table below.

Part of iron bar X Y Z
Number of iran

pins attracted to 5 2 ?
the iron bar

{c) Based on the infomiétion above, predict the number of iron pins attracted
to part Z of the iron bar. Explain your answer.{im)

{d) What is one way he could do to the set-up to attract more iron pins? (1m)

25
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32. le Ming wanted to spread some jam on his bread. He tried fo remove the metal
cover but was unsuccessful.

metal cover

G =y
Loy |
i

t _thick glass jar

|+

T N

EER ORI 4

He turned the jar over and dipped the metal cover into a basin of water for ten
minttes. Then, he was able to open the cover.

{a) Did Le Ming use cold water or hot water? {1m)

(b} Explain why Le Ming was able to open the cover of the béﬂle. (1m)

26
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33. Jamie conducted an experiment as shown below. She observed the water level
in the glass tube after the water in the flask had been heated for 10 minutes.

At the start After ten minutes

glass tube

water level

(a) At which position, X or Y, will the new water level be after heating? {1m)

(b) Explain your answer in (a). (2m)

27
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34. Jay carried out an experiment as shown below.

blue ink drop

o
=

flask K —

— —

Basin X BasinY

Jay placed flask K into basin X and flask L into basin Y. Both basins contained
water of different temperatures. After some time, he observed that the drop of blue
ink moved away from flask K towards flask L. The temperature of the surrounding
was 30°C.

(a) What are the most likely temperatures of the water in basins X and Y?
Fill out the table with letters X and Y.{1m)

Basin Temperature
80°C
10°C

- {b) Explain how did the ink drop move from flask K to flask L. {(2m)

{c} What will be the temperature of the water in basin Y after six hours? (1 m)

End of Booklet B

28

www.testpapersfree.com



www.testpapersfree.com



2019 P4 SA1 SCIENCE ANSWER

Booklet A
1 1(3) 6 [(4) 11 {(2) 16 (1) 21 (3) 1}
2 1i(2) 7 2 12 (4) 17 {3) 22 {2} ;
3 1N 8 (1) 13 {4) 18 {4) 23 {2) !
&4 {3) 9 d(1 Wi 14 (1) 15_' {1) 24 {4}
5 (4) 10 (1) 15 {3) 20 {3)
Booklet B: Open-ended Questions
23 Organism A cannof move or its own
and reproduce by spores
25b (1) cockroach: D (i) apple tree: B
25¢
Presence of ___ water
25d ]
Shoes Y as there is presence of water so mould will grow.
26a
X darva Y. __bupa _
26b . ' ) -
Both life cycles start with ___a fertilized egg in their life cycle.
26c -
Stage | Observation
5 The seed leaves shrink in size and drop off,
3 The shoot emerges from the seed.,
| 2 _1 The roots emerge from the seed.
4 The leaves appear.
1 The seed coat breaks open.
26d | Yes. There is __ water, oxygen, warm __ for germination
to lake place.
27 Joxes: A, C and D should be licked, -
[ 27 . . . . o
) . small intestine - E: _large intestine
27§ P ._digested food Q: _water
28a o
Both plants R and S have __ weak stems
S8b Leaves reach a higher position to frap. more sunlight o make _more  food

1
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28c

ltisthe __Stem _ of a plant.

29
Raymond will beabletopour __ less  water. Thereis __ less space
between the small marbles that aflows __more water to occupy the
spaces.
30a . . : :
Air occupies space in the cup. Thére was _ N0 More space  for water to
enfer.
30b :
The volume of water remains the same
AMa :
Disc Is disc a magnet or an iron disc? |
A magnet
B iron
31b " - i
Like poles of discs A and C were facing and
they__tepel This shows that they are both magneis.
sle 3415 pins. Magnetic strength is the greatest at the poles
of a magnet - Both X and Z are the poles of the magnet so
they attracted the greatest number of pins,
31d s .
He can add - more batteries to the set-up.
32 "
@ He should use not water
azb . y
The metal cover __ gained heat from the hot water and expanded
33a Position Y.
33b . ined heat from the b
Water in the flask gained heat from the burner and expanded
to accupy more space. There was no more space in the flask so the water
moved upwards.
34a Basin Temperature i
X 80°C
Y 10°C
34b - :
Airin flask K gained heat from the hot water and
expanded . There was no more space in the flask so the air pushed
' the ink drop towards flask L. :
34c

The temperature of the water in basin Ywilbe  30°'C )
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